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ÁoPÂ¯À / COMMERCE

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Version)

Põ» AÍÄ : 3.00 ©o ÷|µ® ] [ ö©õzu ©v¨ö£sPÒ : 90

Time Allowed : 3.00 Hours ] [Maximum Marks : 90

AÔÄøµPÒ : (1) AøÚzx ÂÚõUPÐ® \›¯õP¨ £vÁõQ EÒÍuõ Gß£uøÚa
\›£õºzxU öPõÒÍÄ®. Aa_¨£vÂÀ SøÓ°¸¨¤ß, AøÓU
PsPõo¨£õÍ›h® EhÚi¯õPz öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ ©mk÷© GÊxÁuØS®
AiU÷PõikÁuØS® £¯ß£kzu ÷Ásk®. £h[PÒ ÁøµÁuØS
ö£ß]À £¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of fairness,

inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

£Sv & I / PART – I

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 20x1=20

(ii) öPõkUP¨£mkÒÍ |õßS ©õØÖ ÂøhPÎÀ ªPÄ® HØ¦øh¯

Âøhø¯z ÷uº¢öukzxU SÔ±mkhß Âøh°øÚ²® ÷\ºzx

GÊuÄ®.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and write the

option code and the corresponding answer.
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1. {ÖÁÚzvØS® öÁÎ |£¸US® EÒÍ EÓÄ •øÓø¯¨ £ØÔU SÔ¨¤kÁx
__________.

(A) Aø©¨¦ •øÓ÷¯k (B) uPÁ»ÔUøP

(C) Tmk¸ÁõUPa \õßÔuÌ (-D) \[P |øh•øÓ ÂvPÒ

The relationship between outsiders and the Company is defined in __________.

(a) Memorandum of Association (b) Prospectus

(c) Certificate of Incorporation (d) Articles of Association

2. Á¸©õÚ Á› Gß£x :

(A) ©øÓ•P Á› (B) Â¯õ£õµ Á›

(C) ÷\øÁ Á› (-D) ÷|µi Á›

Income Tax is :

(a) an indirect tax (b) a business tax

(c) Service tax (d) a direct tax

3. EØ£zv¯õÍ¸US® ~Pº÷Áõ¸US® Cøh÷¯ Cøn¨¦a \[Q¼¯õP C¸¨£x
__________.

(A) ÁoP® (B) Â¯õ£õµ®

(C) ÁºzuP® (-D) öuõÈØ\õø»

__________ acts as a connective link between the Producer and the Consumer.

(a) Commerce (b) Trade

(c) Business (d) Industry

4. \µUSPøÍ \µU÷PØÔPÒ ‰»® Gkzxa ö\ÀÁuØPõP ÁÇ[P¨£k® J¨¦uÀ
__________.

(A) P¨£À ÁõhøP J¨£õÁn® (B) ÁÈa^mk

(C) P¨£À Cµ^x (-D) \µUSU SÔ¨¦

Acknowledgement of receipt of goods for transport by the carrier is __________.

(a) Charter Party (b) Waybill

(c) Bill of Lading (d) Consignment note
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5. |õkPÐUQøh÷¯ \µUSPÒ ©ØÖ® ÷\øÁPÒ £›©õÔU öPõÒÍ¨£mhõÀ Ax
__________ GÚ¨£k®.

(A) ©Ö HØÖ©v Â¯õ£õµ® (B) £ßÚõmk Â¯õ£õµ®

(C) EÒ|õmk Â¯õ£õµ® (-D) £ßÚõmk ÁoP®

Movement of goods and services among the countries :

(a) Entrepot Trade (b) International Trade

(c) Internal Trade (d) International Business

6. CÁºPÎÀ ¯õº ÁõUSÖv°ß {øÓ÷ÁØÓzøuU ÷Põµ •i¯õx ?

(A) J¸ ÁõUSÖv ö£Ö£Áº ©µnzvß ÷£õx AÁµx \mh ¤µv{v

(B) ÁõUSÖv ö£Ö£Áº

(C) J¨£¢uzvØS ‰ßÓõ® |£º

(-D) Tmk ÁõUSÖv AÎzuÁºPÒ

Which of these parties cannot demand performance of promise ?

(a) On the death of a Promisee, his legal representative

(b) Promisee

(c) Stranger to the contract

(d) Any of the joint Promisees

7. RTGS ‰»® SøÓ¢u£m\® GÆÁÍÄ £n® £›©õØÓ® ö\´¯ •i²® ?

(A) ` 2 »m\®

(B) GÆÁÍÄ öuõøP ÷Ásk©õÚõ¾®

(C) ` 5 »m\®

(-D) ` 50,000

Minimum how much amount can be transferred through RTGS ?

(a) ` 2 Lakhs

(b) Any amount

(c) ` 5 Lakhs

(d) ` 50,000
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8. ÁÇ[PÀ ÁÈ°À EÒÍ •uÀ Cøh{ø»¯º ¯õº ?

(A) ]À»øÓ Â¯õ£õ› (B) ö©õzu Â¯õ£õ›

(C) ÁõiUøP¯õÍº (-D) EØ£zv¯õÍº

Who is the first middleman in the channel of distribution ?

(a) Retailer (b) Wholesaler

(c) Customer (d) Producer

9. Tmhõsø© __________ EshõUP¨£kQÓx.

(A) Aµ]ß ÁÈPõmhÀ

(B) J¨£¢uzuõÀ

(C) |m¤ß Ai¨£øh°À

(D) £» |£ºPÐUQøh°»õÚ EÓÁõÀ

A Partnership is formed by __________.

(a) the direction of Government

(b) agreement

(c) friendship

(d) relationship among persons

10. ö£õ¸¢uõu JßøÓz ÷uº¢öukUPÄ®.

(A) ©h[S PøhPÒ

(B) Ag\À ÁÈ Â¯õ£õµ®

(C) |øh£õøu Â¯õ£õ›PÒ

(-D) xøÓÁõ›¨ £shPa \õø»PÒ

Choose the odd one out :

(a) chain stores

(b) mail order houses

(c) street traders

(d) departmental stores
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11. EÒÑº £Sv Á[QPÒ FUSÂzx Á¸Áx :

(A) öuõÈØxøÓ ÁÍºa] (B) Qµõ© ÷\ª¨¦

(C) ÂÁ\õ¯ ÁÍºa] (-D) ÁoPa ÷\ª¨¦

The Local Area Banks are promoting :

(a) Industrial development (b) Rural Savings

(c) Agricultural development (d) Business Savings

12. Aµ_ {Ö©zvß £[S •u½k __________ USU SøÓ¯õ©À Aµ_ ö£ØÔ¸UP
÷Ásk®.

(A) 95% (B) 75% (C) 51% (-D) 60%

The share capital of the Government in a Government Company must not be less than :

(a) 95% (b) 75% (c) 51% (d) 60%

13. £shPU Põ¨£P® __________ ø©¯©õP ö£õ¸mPøÍ øÁzv¸UQÓx.

(A) ÁÇ[PÀ (B) \¢øu°kuÀ

(C) ÂØ£øÚ ö\´uÀ (-D) Á›ø\¨£kzxuÀ

A warehouse holds goods as a __________ center.

(a) Distribution (b) Marketing

(c) Selling (d) Sorting

14. __________ Gß£x {Ö©[PÒ A¯À|õmk ö\»õÁoø¯¨ ö£ÖÁuØPõP÷Á
öÁÎ°h¨£k® J¸ ]Ó¨¦ ÁøP¨ £zvµ©õS®.

(A) ö£¸ {ÖÁÚ £zvµ[PÒ (B) Aµ_ £zvµ[PÒ

(C) E»PÍõÂ¯ øÁ¨¦ Cµ^x (-D) A¢{¯a ö\»õÁo ©õØÖ £zvµ®

__________ is a special type of bond issued by the companies to raise money in foreign
currency.

(a) Corporate Bonds (b) Government Bonds

(c) Global Depository Receipt (d) Foreign Currency Convertible Bond
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15. ÷|ºø© £[SuõµºPÒ J¸ {Ö©zvß __________.

(A) PhÚõÎPÒ (B) PhÜ¢÷uõº

(C) £o¯õÍºPÒ (-D) E›ø©¯õÍºPÒ

Equity shareholders are the __________ of a company.

(a) debtors (b) creditors

(c) employees (d) owners

16. ö£õ¸zxP :

÷\øÁz öuõÈÀPÒ GkzxUPõmk

(1) uÛa ÷\øÁ (i) ö£õ¸mPÒ HØÔa ö\À¾uÀ

(2) ö£õxa ÷\øÁ (ii) Ãmk £o¯õmPÒ

(3) Â{÷¯õPa ÷\øÁ (iii) uoUøP°¯À

(4) uÛzxÁa ÷\øÁ (iv) £ÒÎPÒ

(A) (1)-(iii), (2)-(iv), (3)-(ii), (4)-(i)

(B) (1)-(iii), (2)-(i), (3)-(iv), (4)-(ii)

(C) (1)-(ii), (2)-(i), (3)-(iv), (4)-(iii)

(-D) (1)-(ii), (2)-(iv), (3)-(i), (4)-(iii)

Match the following :

Tertiary industries Example

(1) Personalised Service (i) Logistics

(2) Public Service (ii) Servants, maid

(3) Distributive Service (iii) Auditing

(4) Quaternary Service (iv) Schools

(a) (1)-(iii), (2)-(iv), (3)-(ii), (4)-(i)

(b) (1)-(iii), (2)-(i), (3)-(iv), (4)-(ii)

(c) (1)-(ii), (2)-(i), (3)-(iv), (4)-(iii)

(d) (1)-(ii), (2)-(iv), (3)-(i), (4)-(iii)
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17. ¦Ó J¨£øh¨¤ß •UQ¯ |ßø© __________.

(A) vÓß (B) EØ£zvz vÓß

(C) A»SPÒ (-D) ö\»Ä SøÓ¨¦

The main benefit of outsourcing is :

(a) skill (b) productivity

(c) units (d) cost reduction

18. _¯ EuÂU SÊUPÐUSU Phß AÎUP __________ ÷ÁÖ£mh •øÓPÒ EÒÍÚ.

(A) 3 (B) 5 (C) 4 (-D) 2

There are __________ distinct modes of credit available to Self Help Groups.

(a) 3 (b) 5 (c) 4 (d) 2

19. µõU÷hÀ ö\õø\°mi°øÚ ÷uõØÖÂzuÁº __________.

(A) hõÀ©õUQ (B) µõ£ºm KÁß

(C) »®÷£ºm (-D) H.C. PõÀöÁºm

Rochdale society was started by __________.

(a) Talmaki (b) Robert Owen

(c) Lambert (d) H.C. Calvert

20. C¢v¯õÂÀ 1969 B® Bsk __________ Á[QPÒ |õmkøhø©¯õUP¨£mhÚ.

(A) 16 (B) 20 (C) 14 (-D) 8

__________ Banks were nationalised in India in the year 1969.

(a) 16 (b) 20 (c) 14 (d) 8
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£Sv & II / PART – II

SÔ¨¦ : GøÁ÷¯Ý® HÊ ÂÚõUPÐUS Âøh-¯-ÎU-P-Ä®. AÁØÔÀ ÂÚõ Gs
30 &US Pm-hõ-̄ -©õP Âøh-̄ -ÎU-P-Ä®.

Note : Answer any seven questions. Question No. 30 is Compulsory.

21. ÷£õUSÁµzx – Áøµ¯ÖUPÄ®.

Define - Transport.

22. Tmk¸ \õµõ {ÖÁÚ[PÒ ¯õøÁ ?

What are the non-corporate enterprises ?

23. {Ö©zvß H÷uÝ® Cµsk ]Ó¨¤¯À¦PøÍU SÔ¨¤kP.

Mention any two characteristics of a company.

24. £ßÚõmk {Ö©zvØS H÷uÝ® Cµsk Euõµn[PÒ u¸P.

Give two examples of MNCs.

25. xøÓÁõ› Aø©¨¦PÎß ußø©PÒ H÷uÝ® CµsiøÚU SÔ¨¤kP.

Give any two features of Departmental Undertaking.

26. C¸uµ¨¦ ÁõUSÖvPÒ GßÓõÀ GßÚ ?

What is meant by Reciprocal Promise ?

27. Áõo£ \©{ø» GßÓõÀ GßÚ ?

What do you mean by Balance of Trade ?

28. \µUPõøn°ß ÁøPPøÍU SÔ¨¤kP.

Mention the types of Indent.

29. E»PÍõÂ¯ øÁ¨¦ Cµ^x GßÓõÀ GßÚ ?

What is a Global Depository Receipt (GDR) ?

30. y¯ Phß GßÓõÀ GßÚ ?

What is Clean Loan ?

7x2=14
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£Sv & III / PART – III

SÔ¨¦ : GøÁ÷¯Ý® HÊ ÂÚõUPÐUS Âøh-¯-ÎU-P-Ä®. AÁØÔÀ ÂÚõ Gs
40 &US Pm-hõ-̄ -©õP Âøh-̄ -ÎU-P-Ä®.

Note : Answer any seven questions. Question No. 40 is Compulsory.

31. Ãmk Á\v TmkÓÄ £ØÔ ]Ö SÔ¨¦ ÁøµP.

Write a short note on Housing Co-operatives.

32. P¨£À ÁõhøP J¨£õÁn® GßÓõÀ GßÚ ?

What is Charter Party ?

33. uªÌ|õmiÀ SÖ, ]Ö ©ØÖ® |kzuµ öuõÈÀ {ÖÁÚ[PÎß u¯õ›¨¦PøÍ¨
£mi¯¼kP.

List out the products produced by Micro, Small and Medium Enterprises in Tamil Nadu.

34. ÷u]¯ ªßÚq {v¨ £›©õØÓ® – ÂÍUSP.

Explain National Electronic Funds Transfer.

35. ö©õzu Â¯õ£õ›°ß £s¦ |»ßPÒ H÷uÝ® ‰ßÔøÚ GÊxP.

Explain any three characteristics of Wholesalers.

36. AhS Phß GßÓõÀ GßÚ ?

What is Pledge ?

37. EÒ|õmk Â¯õ£õµzvß C¯À¦PÒ H÷uÝ® ‰ßÔøÚ GÊxP.

Write any three features of Internal trade.

38. ÁoP® – ö£õ¸Ò u¸P.

Give the meaning of the term “Vanigam”.

39. ÷|µi Á›US® ©øÓ•P Á›US® EÒÍ ÷ÁÖ£õkPÒ u¸P. (H÷uÝ® 3)

Distinguish between Direct Taxes and Indirect Taxes.  (any 3)

40. P¨£À Cµ^vß EÒÍhUP[PÒ ¯õøÁ ?

What are the contents of Bill of Lading ?

7x3=21
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£Sv & IV / PART – IV

SÔ¨¦ : AøÚzx ÂÚõUPÐUS® Âøh-¯-ÎU-P-Ä®.

Note : Answer all the questions.

41. (A) xøÓÁõ› {ÖÁÚ[PÎß |ßø©PÒ H÷uÝ® I¢vøÚ ÂÁ›UPÄ®.

AÀ-»-x

(B) H÷uÝ® I¢x uÛ|£º •u½mk ÁÈPøÍ ÂÍUSP.

(a) Explain any five advantages of Departmental Undertaking.

OR

(b) Explain any five personal investment avenues.

42. (A) EÒ|õmk ÁoPzøu²®, £ßÚõmk ÁoPzøu²® ÷ÁÖ£kzxP. (H÷uÝ® 5)

AÀ-»-x

(B) A¢{¯a ö\»õÁo ©õØÖ¨ £zvµzvß H÷uÝ® I¢x ]Ó¨¤¯À¦PøÍ
ÂÁ›UPÄ®.

(a) Distinguish between Internal and International Trade.  (any 5)

OR

(b) State any five features of Foreign Currency Convertible Bonds (FCCB).

43. (A) Põ¨¥miß ÷Põm£õkPøÍ ÂÍUSP. (H÷uÝ® 5)

AÀ-»-x

(B) Á¸©õÚ® GßÓ ö\õÀ¼À Ah[Q²ÒÍøÁ ¯õøÁ ?

(a) Explain the principles of Insurance. (any 5)

OR

(b) What are the items included in an Income ?

44. (A) C¢v¯ ›\ºÆ Á[Q°ß £À÷ÁÖ £oPøÍ ÁøP¨£kzxP. (H÷uÝ® 5)

AÀ-»-x

(B) •zµõ Á[Q – ÂÍUSP.

(a) Classify the various functions of Reserve Bank of India.  (any 5)

OR

(b) Explain MUDRA Bank.

7x5=35
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45. (A) Tmhõsø© {ÖÁÚzøu £vÄ ö\´¯ ¤ß£ØÓ¨£k® |øh•øÓPøÍ
ÂÁ›UPÄ®.

AÀ-»-x

(B) ö£¸ {ÖÁÚ BÐøP°ß |ßø©PÒ H÷uÝ® I¢vøÚ GÊxP.

(a) Write the procedure for Registration of a Firm.

OR

(b) Write any five benefits of Corporate Governance.

46. (A) £ßÚõmk {Ö©[PÎß wø©PøÍ ÂÍUSP.

AÀ-»-x

(B) E›ø©¯õÍºPÒ •øÓ Ai¨£øh°À Á[QPÎß ÁøPPøÍ ÂÍUSP.

(a) What are the disadvantages of Multinational Corporations (MNCs) ?

OR

(b) Explain the types of Banks based on ownership pattern.

47. (A) öuõÈÀ, ]Ó¨¦z öuõÈÀ ©ØÖ® ÷Áø»Áõ´¨¦ & Kº J¨¥k ö\´P.
(H÷uÝ® 5)

AÀ-»-x

(B) HmkU Phß •Pø©US®, £ßÚõmk HmkU Phß •Pø©US® Cøh°»õÚ
÷ÁÖ£õkPøÍ GÊxP.

(a) Compare Business with profession and employment. (any 5)

OR

(b) Write the difference between Factoring and Forfaiting.
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